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QUESTION 1

Which statement is correct about Marvis?

A. Marvis handles the on-boarding process for WLANS using third-party APs.

B. Marvis is a module that facilitates WLAN automation tasks using API information.

C. Marvis is an Al engine that assists administrators with troubleshooting problems using Al.
D. Marvis is the user interface used to manage virtual machines.

Correct Answer: C

Reference: https://www.juniper.net/us/en/products/cloud-services/virtual-network- assistant.html

QUESTION 2

What does Mist\\'s patented 16-element vBLE Antenna Array do when "engagement" is enabled?
A. performs radio resource management

B. locates Wi-Fi assets

C. transmits unique and directional BLE beams

D. performs personal pre-shared key sharing

Correct Answer: C

Reference: https://www.mist.com/resources/ap61-access-point/

QUESTION 3

Which statement about RadSec is correct?

A. RadSec allows RADIUS authentication over TCP and TLS.
B. RadSec allows RADIUS authentication over TCP and SSL

C. RadSec allows RADIUS authentication over UDP and TLS.
D. RadSec allows RADIUS authentication over UDP and SSL.
Correct Answer: A

Reference: https://www.mist.com/documentation/radsec/#:.~:text=RadSec%20is%20a%20protocol%20 which,security
%20through%20the%?20transport%20layer
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QUESTION 4

Which two SLEs measure the amount of time that it takes for a process to complete? (Choose two.)
A. roaming

B. AP uptime

C. throughput

D. time to connect

Correct Answer: CD

Reference: https://www.juniper.net/documentation/us/en/day-one-plus/mist/mist-cloud-day- one-plus.pdf

QUESTION 5

Referring to the exhibit, what does the security alert indicate?

v : @ Rougue AP detected

Reporting APs d4:20:b0:02:18:29
SSIDs Linksys05406
Rogue BSSIDs 302303c4f44f

A. An AP that is not part of the Mist Org is connected to the same wired network as the Mist APs.

B. An AP that is not part of the Mist Org is launching a DDoS attack on the Mist APs.

C. An AP that is not part of the Mist Org is advertising the same SSIDs as the Mist APs.

D. An AP that is not part of the Mist Org is operating in the same RF channel as the nearby Mist AP.
Correct Answer: A

Reference: https://www.mist.com/documentation/rogue-neighbor-honeypot-aps/

QUESTION 6

What is the purpose of an SSID?

Latest INO-450 Dumps | JNO-450 PDF Dumps | JN0-450 VCE Dumps

3/8


https://www.pass2lead.com/jn0-450.html
https://www.pass2lead.com/jn0-450.html
https://www.pass2lead.com/jn0-450.html

P 2L d https://lwww.pass2lead.com/jn0-450.htm]
aSS ea 2023 Latest pass2lead JN0-450 PDF and VCE dumps Download

—— https://Pass2Lead.com

A. to identify a unique WLAN

B. to identify a unique VLAN

C. to identify a unique APPROACH
D. to identify a unique organization
Correct Answer: A

Reference: https://www.lifewire.com/definition-of-service-set-identifier-816547

QUESTION 7

What will the BLE array be doing in the configuration shown in the exhibit?

Bluetooth based Location Services
[J vBLE Engagement
] App Wakeup

Asset Visiblity

A. listening and transmitting
B. transmitting only

C. listening only

D. setting VBLES

Correct Answer: C

Reference: https://www.mist.com/documentation/where-is-ble-controlled/

QUESTION 8
What do 802.11 stations perform to help avoid collisions on the WLAN medium?
A. 802.11 stations detect collisions and set a back-off timer.

B. Listen to verify that the medium is free before transmitting.
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C. Stations only transmit when polled by the access point.
D. Transmit on a fixed schedule.
Correct Answer: B

Reference: https://blogs.arubanetworks.com/industries/understanding-802-11-medium- contention/

QUESTION 9

Which statement is correct about Mist guest portals?

A. A guest portal is a physical location where guests can go to access Wi-Fi services.

B. A guest portal is a landing page where users can authenticate and access the guest WLAN.
C. A guest portal is a landing page in the MIST Ul where clients can make changes to WLANS.
D. A guest portal is a physical location where clients can access corporate Wi-Fi networks.
Correct Answer: B

Reference: https://www.mist.com/documentation/mist-guest-portal/

QUESTION 10

Time to Connect svnes f h A ﬂ A hah\ ﬂ ﬂ ﬂ

89% np A f\ A AMND RN

S5UCCEess

60% BALS LA A% AL W
sSuUcCcess

Referring to the exhibit, which statement is correct?

A. Coverage issues are mainly attributed to Asymmetry Uplink.

B. Time to Connect failures are mainly attributed to DHCP issues.
C. Successful Connects are failing 89% of the time.

D. Time to Connect is successful 67% of the time.

Correct Answer: D
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QUESTION 11

Where would you find the IP addresses that a client has used over the past 30 days?
A. Client Insights

B. Marvis Query Language

C. Client Stats

D. Site Insights

Correct Answer: A

Reference: https://www.mist.com/documentation/checking-the-activity-log-of-a-client/

QUESTION 12

The wireless service level expectation (SLE) for successful connects uses which three classifiers? (Choose three.)
A. DHCP

B. association

C. asymmetry uplink

D. IP services latency

E. authorization

Correct Answer: ABE

Reference: https://www.mist.com/documentation/service-level-expectations-sle/

QUESTION 13

Referring to the exhibit, you asked Marvis to troubleshoot a client. In this scenario, what did Marvis determine?
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A. two authentication failures over this week
B. two DHCP failures today

C. DHCP errors over the past seven days
D. two authentication failures today

Correct Answer: A

Reference: https://www.mist.com/documentation/mist-experience-marvis-client/

QUESTION 14

Which encryption protocol is used with WPA2?
A. AES

B. DES

C.RC4

D. RSA

Correct Answer: A

Reference: https://www.pandasecurity.com/en/mediacenter/security/wpa-vs- wpa2/#:.~:text=WPA2%20is%
20an%?20updated%20version,or%20not%20work%20at%20al |

QUESTION 15
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You need to deploy an external, directional patch-panel antenna to provide coverage in a specific area. You plan to use
a Mist AP43, which has a 4-stream 5 GHz radio, a 4-stream 2.4 GHz radio, and a dual-band 2-stream radio for
monitoring. In this scenario, how many dual-band connectors should the antenna have?

A. 4 connectors

B. 10 connectors

C. 6 connectors

D. 3 connectors

Correct Answer: C

Reference: https://www.mist.com/resources/ap43-access-point/
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